

شماره تلفن: ۲۳ / بخش ریاضیات

نام خانوادگی: میرزا...

$$\log_n^m = \alpha \quad \log_{mn}^{m^2 n} = b \Rightarrow \log_{mn}^{m^2 n} = \log_{mn}^{m^2} + \log_{mn}^n = \left\{ \begin{array}{l} \log_{mn}^{m^2} = \frac{1}{\frac{1}{\alpha} \log_{mn}^n} \Rightarrow \frac{\alpha}{1 + \log_{mn}^n} \\ \log_{mn}^n = \frac{1}{\log_n^{mn}} = \frac{1}{\frac{\log_n m + \log_n n}{\alpha}} = \frac{\alpha}{\log_n m + 1} \end{array} \right.$$

$$\log_n^h = \frac{1}{\alpha} \Rightarrow \frac{\alpha}{\frac{1}{\alpha} + \frac{1}{\alpha}} + \frac{1}{\alpha + 1} \Rightarrow \frac{\alpha + 1}{\alpha + 1} \Rightarrow 1 + \frac{\alpha}{\alpha + 1}$$

$$\Rightarrow 0 < \frac{\alpha}{\alpha + 1} < 1 \Rightarrow 1 < 1 + \frac{\alpha}{\alpha + 1} < 2 \Rightarrow 1 < b < 2 \Rightarrow [b] = 1$$

$\log_f(n^2 - n - 2)$ $\Rightarrow (n+1)(n-2) > 0$ $\Rightarrow \frac{-1}{2} < n < 2$ $\Rightarrow I \cap II = (-\infty, -1) \cup (1, +\infty)$ $\Rightarrow I \cap II = (-\infty, -1) \cup (1, +\infty)$	$I \cap II = (-\infty, -1) \cup (1, +\infty)$ $\Rightarrow I \cap II = (-\infty, -1) \cup (1, +\infty)$ $\Rightarrow I \cap II = (-\infty, -1) \cup (1, +\infty)$
---	---

نتیجه: $n > 1$ و $n < -1$

$$\log_a^a = \frac{1}{\log_a^n} \Rightarrow \frac{1}{\log_a^n} + \log_a^3 = 2 \Rightarrow \log_a^3 = t$$

$$\Rightarrow \frac{1}{t} + t = 2 \Rightarrow t^2 - 2t + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t = 1$$

$$\Rightarrow \log_a^3 = 1 \Rightarrow a = 3$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} - \log_{\frac{1}{10}}^{\frac{1}{10}} \Rightarrow \log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} - \log_{\frac{1}{10}}^{\frac{1}{10}} = 0$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} - \log_{\frac{1}{10}}^{\frac{1}{10}} = 0$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} - \log_{\frac{1}{10}}^{\frac{1}{10}} = 0$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}}$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}}$$

$$\log_{\frac{1}{10}}^{\frac{1}{10}} = \log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}}} \Rightarrow \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}} + \frac{1}{\log_{\frac{1}{10}}^{\frac{1}{10}} + \log_{\frac{1}{10}}^{\frac{1}{10}}}$$

$$\log_5 4 = \log_5 2 + \log_5 2 \Rightarrow \frac{1}{\log_2 5} + \frac{1}{\log_2 5} = \frac{1}{\log_2 2 + \log_2 2} + \frac{1}{\log_2 2 + \log_2 2}$$

$$\log_2 2 = 1, \log_2 5 = 1/\omega \Rightarrow \log_2 5 = \frac{1}{1/\omega} = \omega \Rightarrow \frac{\log_2 5}{\log_2 2} = \log_2 5 = \frac{1/\omega}{1/\omega} = 1/\omega$$

$$\frac{1}{1/\omega + 1/\omega} + \frac{1}{1/\omega + 1/\omega} = \frac{1}{\omega} + \frac{1}{\omega} = \frac{2/\omega}{1/\omega} = 2 \Rightarrow \log_5 4 = 2$$

$$\log_1 11 = m \Rightarrow \log_1 11 = \log_1 3 + \log_1 4 \Rightarrow \frac{1}{\log_3 1} + \log_1 4 = \frac{1}{\log_3 1} + \log_1 2 + \log_1 2$$

$$\Rightarrow \frac{1}{\log_3 1} + \log_1 4 = m \Rightarrow \log_3 1 = \frac{1}{m-1} \Rightarrow \log_3 1 = \frac{1}{m-1}$$

$$\log_3 12 = \log_3 3 + \log_3 4 \Rightarrow \frac{1}{\log_3 1} + \log_3 4 = \frac{1}{\log_3 1} + \log_3 2 + \log_3 2$$

$$\Rightarrow \frac{1}{\log_3 1} + \log_3 4 = \frac{1}{\log_3 1} + \log_3 4 \Rightarrow \log_3 4 = \log_3 4$$

$$\left(\frac{3}{10}\right)^{m-1} = \left(\frac{2}{5}\right)^{m-1}, \left(\frac{12}{1}\right)^n \Rightarrow \left(\frac{2}{5}\right)^{-n} \Rightarrow \left(\frac{2}{5}\right)^{-n} = \left(\frac{2}{5}\right)^{-n}$$

$$\Rightarrow \left(\frac{2}{5}\right)^{m-1} = \left(\frac{2}{5}\right)^{-n} \Rightarrow m-1 = -n \Rightarrow m+n=1$$

$$\log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1$$

$$\log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1 = \log_1 \frac{9}{10} + 1$$

$$\log_1 b = \frac{1}{\log_b 1} \Rightarrow \frac{1}{\log_b 1} = \frac{1}{\log_b 1} \Rightarrow \log_b 1 = \log_b 1$$

$$\log_2 b = 2 \log_2 5 \Rightarrow \log_2 b = 2 \log_2 5 \Rightarrow b = 25 \Rightarrow \log(25 \times 4 - 1) = \log 100$$

$$\Rightarrow \log_{10} 100 = 2$$

$$\frac{1}{\alpha + \beta} = \log 5 \Rightarrow 5 = \alpha + \beta = \frac{1}{\log 5} \Rightarrow \frac{1}{\log 5} = \log 5 \Rightarrow \frac{1}{\log 5} = \log 5$$

$$2\alpha = b + c \Rightarrow 2\alpha = 1 + \frac{c}{b} \Rightarrow \log 2 = 1 + \frac{c}{b} \Rightarrow \frac{c}{b} = \log 2 - \log 10$$

$$\Rightarrow \frac{\log 2 - \log 10}{\log 2} = \frac{c}{b} \Rightarrow \frac{\log \frac{1}{10}}{\log 2} = \log \frac{1}{10} \Rightarrow \log \frac{1}{10} = \log \frac{1}{10}$$

$$\Rightarrow \left(\frac{1}{10}\right)^{\log 2} = \left(\frac{1}{10}\right)^{\log 2} \Rightarrow \frac{1}{10} = \frac{1}{10}$$